

48

$6+6=$	$3+3=$	$8+8=$
$20+20=$	$40+40=$	$10+10=$
$26+26=$	$43+43=$	$18+18=$

$60 = \underline{\quad} + \underline{\quad}$	$40 = \underline{\quad} + \underline{\quad}$	$50 = \underline{\quad} + \underline{\quad}$
$8 = \underline{\quad} + \underline{\quad}$	$2 = \underline{\quad} + \underline{\quad}$	$6 = \underline{\quad} + \underline{\quad}$
$68 = \underline{\quad} + \underline{\quad}$	$42 = \underline{\quad} + \underline{\quad}$	$56 = \underline{\quad} + \underline{\quad}$

Antwort: _____

f) $3 + 46 =$